Answer Key ¢ Lesson 5: Subtracting Multidigit Numbers
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* Answers and/or discussion are included in the lesson.

Finish It: Subtraction (SAB pp. 747-749)
Questions 1-3

|.* Estimates will vary.
Possible estimate: 723 — 300 = 423

A -100 -100 -100
623 73

700 — 100 — 100 — 100 + 2= 425

, 723=700+20+3=700+10+ 13 =600+ 110 + 13
298=200+90+8=200+90+ 8=200+ 90+ _8
400 + 20+ _5 =425

C.*723 — 298 =425 0r 723 — 300 + 2 = 425

@@]m Check with addition:
123 1
%98 425
@5 +298
723

D. 208 +[ 2 |=300
300 +[400] = 700
700 +[ 23 |=723
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2. A.* yes; 2 trades
B.* Emily could not take 8 from 3. She needed
to take 10 from the 20 to give the 3 ten
more ones. .
o]
3. A.* yes; Fern traded 1 ten for 10 ones. She ki
crossed out the 2 and wrote a 1 to show 3
[0}
that there was 1 ten left. 5
o )
2 o
B.* yes; I traded 1 hundred for 10 tens. I s 3 .
(7] 9 o
crossed out the 7 and wrote a 6 to show 8 i %
o = o
that there were 6 hundreds left. £ 4 T o 2
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* Answers and/or discussion are included in the lesson.
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Answer Key ¢ Lesson 5: Subtracting Multidigit Numbers

Help Contessa Again (SAB pp. 751-752)
Name Date Questions 1-2
Help Contessa Again See the lesson for what went wrong explanations.
1. Help Confused Contessa fix her subtraction mistakes. Estlmates WIH Vary. P OSSIbIC estimates are glven.
Tell your partner what Estimate, then use the | . A *
went wrong. same method to solve it. 999
A BgIQ
999 — 735
— 785 — 735 e
11514 264
Estimate_____ Estimate ___300
B. 820 820 B
—119 —119 *
719 ' 110
820
- 119
, 701
H Estimate
c. i
T s Estimate __ 700
2 —532 —532
E 1246 C.x
611
4
) — 532
Estimate 1 8 2
Subtracting Multidigit Numbers SAB - Grade 2 - Unit14-Lesson5 751 .
Estimate __ 200

Student Activity Book - Page 751

Name Date
Tell your partner what Estimate, then use the D_ * 657 — 328
went wrong. same method to solve it.
D. 657 — 328 657 — 328 657 =600 + 50 + 7=600 + 40 + 17
328=300+20+8=300+20+ 8
657 =6+5+7 300 +20 + 9=329
328=3+2+8
3+2+9=14
Estimate Estimate __ 300
E 809 809 E.x 710
- 271 —271
637 Bﬂg
— 271
538
Estimate Estimate __ 550

2. Contessa solved the problem below and then tried to check it
with addition. Where did she go wrong? Show or tell Contessa
how to check her subtraction with addition.

Check with addition:

1
43)

fueduiod BuIUSIaN JUNH lIEpUsY @ 1FIAd0D

321 521
— 457 457 .
64 + 64 2. Contessa added all of the numbers in the
10 subtraction problem together. She need to add
64 + 457 to get 521.
752 SAB-Grade2-Unit14-Lesson s Subtracting Multidigit Numbers
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*Answers and/or discussion are included in the lesson.
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Swim Camp for Sharks (SAB pp. 753-755)

Questions 1-6 Name Date
Estimates and strategies for Questions 1-6 will vary. Swim Camp for Sharks \

1 . . — — The O City Shark: t t i . ==\
|. Estimate: 20; 412 — 390 =22 sharks Use te Subiraction Strategies Merufor )
2. A. great white shark Ly Mamber o Feeneo soctonvo "SRG

B. Estimate: 800; 983 — 218 = 765 miles ke o v ssonl. St o o 0 e
8. Estimate: 500: 1000 — 550 =450 laps 1. Last year, 390 sharks went to swim camp. This year, 412 sharks
b : ’ went to swim camp. How many more sharks went to camp this
4. A mako shark year than last year?
B. Estimate: 200; Possible paper and pencil Fetimate:

method to solve 523 — 352:

523 =500 + 20 + 3=400 + 120 + 3

352=300+50+2=300+ 50+2 Number sentence

2. A great white shark traveled 983 miles from its home in Mexico
1 00 + 70 +1= 1 71 to get to camp. A bull shark from California traveled 218 miles

523 — 352 =171 p()unds from home to get to camp.

5. Estimate: $3.00; Possible mental math strategy
to solve $4.50 — $1.40: $1.40 plus $.10 is

A. Who lives farther from camp?

B. How much farther?

Copyright © Kendall Hunt Publishing Company

Estimate:
$1.50. Add $1.00 for $2.50. Add another $1.00
for $3.50. Add another $1.00 for $4.50.
$1.00 + $1.00 + $1.00 + $.10 =$3.10
$450 _ $140 — $310 Number sentence
Subtracting Multidigit Numbers SAB - Grade 2 Unit14 - Lesson5 753

6. Answers will vary. Students’ work should show
that if they add the difference to the amount
they subtracted in the problem, they will get the
amount they started with.

Student Activity Book - Page 753

Name Date Name Date

3. The Ocean City Sharks added all the laps they swam at camp Show how to use mental math to solve this problem.
together. They swam 550 laps altogether. Their goal is to swim
1000 laps. How many more laps do they have to swim to reach
their goal?

5. A small cup of fish costs $4.50 at the camp snack stand. A tiger
shark has $1.40. How much more money does the shark need
to buy a cup of fish?

Estimate: Estimate:

Number sentence

Number sentence

\/ Check-In: Questions 4-6

Show how to use paper and pencil to solve this problem. 6. Choose one problem from Questions 1-5 and check your
4. Two 9-foot sharks compared their weight at camp. The blue subtraction with addition.
shark weighed 352 pounds and the mako shark weighed
523 pounds.

A. Which shark weighed more?

B. How many more pounds did that shark weigh than the

Aueduiog BUIUSIANd WUNH [12PUSY @ WBIAI0D

other? f;i
Estimate: %
Number sentence g
754 SAB-Grade2-Unit14-Lesson 5 Subtracting Multidigit Numbers Subtracting Multidigit Numbers SAB - Grade 2 Unit14 - Lesson5 755
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My Own Subtraction Strategies Menu (SAB p. 757)

Finding Friendly Numbers

Using Base-Ten Pieces

697 +(_3= 700
700 +Q00)= 900
900 +(28)=928
3 +200 + 28 =231

928 — 697
928 N
. — 697 D
Possible response: 900 — 700 = 200 73] ] [
Counting Up Using Expanded Form
928 — 697

Subtract 697 from 928

928 = 900 + 20+ 8 =800+ 120 + 8

697 = 600+90+ 7=600+ 90+7
200+ 30+ 1=231

Counting Back

—100

< I t T I I T T T T
228| 328 428 528
231

Using the Compact Method

8 12
978
— 697
231
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